Combining Uncertainties
1. Calculate the following then complete the rule:
a. 32 ± 4 m  +  12 ± 2 m  =

b. 32 ± 4 kg  -  12 ± 2 kg   =

c. 2.3 ± 0.1 s  +  6.4 ± 0.4 s  =

d. 63 ± 3 W  -  2.0 ± 0.1 W  =

e. 73 ± 2 N  +  5.7 ± 0.9 N  =

f. 6 200 ± 200 m  +  520 000 ± 30 000 m  =

When adding or subtracting values, ___________ the absolute uncertainty values. 

2. Calculate the following then complete the rule:
a. 86 m ± 1%  x  3 m ± 2%  =
b. 47 m ± 4%  ÷  4 s ± 3%  =
c. 5.7 N ± 6%  x  93 m ± 3%  =

d. 4060 kg ± 0.2%  x  35.7 m.s-2 ± 0.4%  =
e. 45.67 m ± 0.01%  ÷  693.8 s ± 0.03% 
When multiplying or dividing values, ___________ the percentage uncertainty values. 

3. Calculate the following then complete the rule:
a. (7.5 m ± 2%)2 = 
b. (590 kg ± 7%)3 =
c. √(9 s ± 2%) =
d. √(68.4 s ± 1%) =
e. (37 kg ± 3%)-2 =

When raising a value to a power, _______________ the percentage uncertainty value by _________________. 
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